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307 £I2+0I & 2,500 0 2,500
02 Sl FAAYEE 2,500 0 2,500
O QHSAE SASNM SEXD
1,000,002 * 52 * 50/100 2,500
402 DI X2 0] & 8,000 0 18,000
01 Sl A=A B X 18,000 0 18,000
O SAT ANEHM XA
10,000,0002 * 3JH A * 50/100 15,000
O© 92 HSeHZD XA
6,000,008 * 14 * 50/100 3,000
HOIE ¥ 92 S4 55,900 0 55,900
201 L2yl 8,600 0 8,600
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2N FUSTA

HE: HRHS(FUSAD])

S WEAHAHX = (&)
SA - BB B () - MM - BES Ol &t o San HmEET
JISNES 10,000 50,000 A 40,000

702 JISEEZS 10,000 50,000 A 40,000
0MNII3HEES 10,000 50,000 A 40,000

O AZAEIS 2 &H3 10,000, 000 10,000
HHR2IZH(FU=SX D) 47,700 49,200 A 1,500
Jl2ddl(=2=X 1) 47,700 49,200 A 1,500
gyl (sg=x) 25,100 25,900 A 800
201 LB-2E| 17,800 18,400 A 600
01 At 2t 2l 17,800 18,400 A 600

O el 14,100

— RAN2E SUAY 14,100, 000& 14,100

O = & dl 3,700

— BAN2E SUAY 3,700,000 3,700
202 OHl 7,300 7,500 2200
01 = LHA YI 7,300 7,500 A 200

O BA2E SUAHY 7,300,000 7,300
Jl2Zdl (e =X) 6,000 6,200 A 200
201 LB-2E| 2,300 2,400 A 100
01 At 2t 2l 2,300 2,400 A 100

O = & dl 2,300

— BAN2E SUAY 2,300,000 2,300
202 Odl 3,700 3,800 A 100
01 S LHAYI 3,700 3,800 A 100

O BAN2E SUNHY 3,700,000& 3,700
Jl2Zdl (s 2=X) 7,300 7,500 A 200
201 L2l 2,900 3,000 A 100
01 At 22l 2,900 3,000 A 100

O = & dl 2,900

— RPN2E SUAL 2,900,000 2,900
202 O4dl 4,400 4,500 A 100
01 = LH 4 bl 4,400 4,500 A 100

O RNSY SUH 4,400,000% 4,400
Jl2dul (0L i=) 4,700 4,800 A 100
201 L2l 1,800 1,800 0
01 At 22l 1,800 1,800 0

O = & dl 1,800

— PN2E SUAL 1,800,000 1,800
202 o4dl 2,900 3,000 A 100
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2N FUSTA
B AR (AT D)
Crel: D2 2HI (R0 =X ) CERED
SA - BB B () - MM - BES Ol &t o San HmEET
01 = LH o4 1l 2,900 3,000 A 100
O BA2Y SHAHA 2,900,000 2,900
Jl2dul () 4,600 4,800 A 200
201 Let24d]| 1,700 1,800 A 100
01 At 2teltl 1,700 1,800 A 100
O = & dl 1,700
— RAN2Y SHAY 1,700,000& 1,700
202 oddl 2,900 3,000 A 100
01 SLHOYI 2,900 3,000 A 100
O BA2Y SHAHA 2,900,000 2,900




